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#include <iostreams
using namespace std;
#include <string.h>
class A
{
public:

A() {cout << "In A::A\n";}

A (const A& other) {cout << "In A::A(copy)\n";}

const A& operator=(const A& other)

cout << "In A::A(copy)\n";
return *this;
class B
A al;
public:
B() {cout << "In B::B\n";}
B (const B& other) {cout << "In B::B(copy)\n";}
~B () {cout << "In B::~B\n";}
class C : public B
A az;
public:
c() {cout << "In C::C\n";}
C(const A& a, const B& b) : B(b), a2(a)
cout << "In C::C(A, B)\n";
void main ()
A al;
cout << "1l ----m------------- \n";
A a2 (aly;
cout << "2 ----m---mo oo \n";
B bl;
cout << M3 oo - oo m - \n";
B b2(bl);
cout << "4 ------------------ \n";
C cl(al, B());
cout << "G oo - oo o oo \n";
C c2;
cout << "6 ~----------------- \n";
c2 = cl;
cout << "7 —-----mmm oo \n";
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#include <iostream>
using namesgspace std;

class Stam

{

char* str;
int x;
double* d;

public:

}i

Stam{(char* str, int x, double* d)

char* getStr() {return str;}
int getX() {return x;}
double* getD() {return d;}

~Stam()

{
*d *= 2;
strx] = '*';

7

void foo(double d[], char text][])

{

}

int nl3] = {3,2,1};

Stam sl (text, nl[l1l], &d[2]);

Stam s2 (text+sl.getX (), (int)d[1],

str(str),

&d[0]1) ;

Stam s3 (text+s2.getX()+1, 8, sl.getD());

Stam* arr[3] = {&sl, &s2, &s3};
for (int i=1 ; 1 < 3 ; 1i++)
cout << arrl[i] ->getX () << "
cout << *arr[i]->getD() <<

cout << arrl[i]->getStr()+arr[i-1]->getX ()<<

}

cout << text << endl;

void main ()

{

double d[3] {1.12, 2.2, 3.3};
char text[] = "abcdefghijkl";
foo(d, text);

for (int 1=0 ; 1 < 3 ; 1++)
cout << df[i] << " "

7

cout << endl << text << endl;

7

n.
7

x(x),

n\nn ;
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library ieee ;
use leee.std logic_1164.all ;
entity sm is

port ( resetN , clk, din, restart : in std logic ;

dout : buffer std logic ) ;

end sm ;
architecture arc sm of sm is

type state is (pre,bingo,post) ;

signal present_state , next_state : state ;
begin
process ( resetN , clk )
begin
if resetN = '0' then
present state <= pre ;
elsif clk'event and clk = '1' then
present state <= next state ;
end if ;
end process ;
process ( present state , din , restart )
begin

dout <= '0' ;
case present state is

when pre =>
if din = '1' then
next state <= bingo ;
else
next state <= pre ;
end if ;
when bingo =»>

dout <= '1' ;
next state <= post ;
when post =»>

if restart = 'l' then
next state <= pre ;
else
next state <= post ;
end if ;
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when others =>
next state <= pre ;
end case;
end process ;
end arc_sm ;

000 DY (MWD DINBNOT) DXIANND NMNPNT VVID X Py 10)

— NIV IO NMINI WNNWN DNNX IYND NNOND DY TpN IN wINN 3yn0 .3 Py 10)

. (One Segment Coding) Next State — NINI VDY NOOI Present State

HH1NIN

DY NI INND NYN NPMID DN I ANND VDN DN D INDNDY MIDP0 TONN 5000 TN Tpn .1

00N
A7)0 TONNI NY MDY NMOLPYIIINT TI9) PONI NN NPINY IN IND .2

YN DN W 2IN00 TN PN L3



2014 P — 90729 ONY

7 NNV

:DIN NIV DY PVNOD NNON PN 7 NIONYDY NI

Ae {>c D Q ‘&

FF y D Q D
’7> - i sel FF
B e
ClLK » l
ﬁ\ P

- D Q 4‘—i >o——=e E

Ae ;7 FF

> CLR

T

7 nONWY N

YNNVYN TIiPN N2>N22 . VHDL Nowa 790NN DN INDND (DXNRDN NIMVPLIIINT M) TIipn NN 2IND

(D0”17000 DXPYNN M0 MDY P TI9ND 1WN) OMNIDPD 00NN NI

323kl
JOOPN INYNa wonwny . Ll
.7 NORYD PN DMMINNDY IOND V9 D2ODY) NMININD N DNINIVNI YoaNwnd oN - .2

D090 TINA DMIYIY MIMND Ny Unnvinog NMOX - .3

10 -



2014 X*p — 90729 1"ONRY

8 N7NY

.8 NONRWY PRI NINNDD 'TLTOT TPD D NoIvn Inm

.CLK NY21nD 5¥ 2N D8P PAIT D02 DNX NP0 Noapn SI NOIYNN S Y MLN XIANI

CLK
4>
NOWYN
S1 TP NN z
1110
RESET

8 NHNVYYH N

M2DON,TIPN MY TN 711107 TIPD NPDD QNI NOIOP DY P /1775 01D TN Z NN

:INAD DNNTI INNY 29D NN 98I0 DY NNIYNXIN PO D AUWN D 121D NNINKD

SI no»o | 1 ] 1 0 1 1 ] 1 1

ZNsm| 0 0 0 1 0 0 0 0 0 1

DIXNN 2Y MY PN DY NODID NDIYNN NI NN NIRTID MY INNNT LLVLID X (/P73 10)
NMVNTI

Z1110" TIpN DX DNWIN N2IWHND DY NN N8N VHDL Nowa InOn 750N N0 .2 (V93 10)

- 11 -



2014 >p ~ 90729 WONY

9 NNV

VLLIDD TOY .DMDN NINVIN I DY VIV INDN TP YOP 90 VHDL Nava TP »yup DNM N NHXYIA

TP YOP 525 DINRNND NININD I NN

D239 (TNXN 295 IN2A) bit W std_logic NON (N1IVPD IMDI) MTTIA NP D DXDI2 MNIND DD
YN XIAN DY DOV 919979759 21N ,DMND DIYY DN YINIIN NN TNXD TMWID DITNIYY

2ONYN VM PID XNNY ,D>TX) (Tri-State) O»AXN-NON DDIVN (Gated Latch)

DN D01 502 WHNNWND TNX PR 1IN 07 DY windy TIIND 1Ny

N (793 10)
library ieee ;
use ieee.std logic_11l64.all ;
entity mderiv is
port ( resetN , clk : in std logic ;
din : in std logic ;
gr,qgf,grs,gfs : buffer std logic ) ;
end mderiv ;
architecture arc mderiv of mderiv is
signal x1 , x2 : std logic ;
begin
process ( resetN , clk )
begin
if resetN = '0' then
x1 <= '0' ; x2 <= '0'" ;
grs <= '0' ; gfs <= '0' ;
elsif clk'event and clk = '1l' then
x1 <= din ; X2 <= x1 ;
grs <= x1 and not x2 ;
gfs <= not x1 and x2 ;
end if ;
end process ;
gr <= x1 and not x2 ;
gf <= not x1 and x2 ;
end arc mderiv ;
A2 Py 10)

library ieee ;
use ieee.std logic 1164.all ;
entity trans is
port ( a , b : inout std logic vector (3 downto 0) ;
enable : in std logic )y
end trans ;
architecture arc_trans of trans is

begin
a <= "ZzZZZ" when enable = '0' else b ;
b <= "HHHH" when enable = '1l' else a ;

end arc trans ;

-12 -
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